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Selected Response:
Choose the appropriate response on the answer sheet or SCANTRON.
1.  How many terms are in the sequence {3,1, —1,..., —91}
w 5 A=k tdlnt)
(B) 45
C 46
48

2. Inanarithmetic sequence, t; = m and t, = n. Which expression represents t.?
(4) 2Zm—n
(B) 2n—m
¢ 3n—-m
3n—-2m

3.

(c
(D)

4. What is the exact length of BC?

Which describes the series {—19,—%,—?.—?,...}? ’\L (‘ ‘

convergent with a sum of —38
convergent with no sum
divergent with a sum of —38
divergent with no sum

“iochnile JW'\:"" ¢ Swm

-l

| =r
A
4
, 45 5 f'D ap” .
(a) 6
12
% 4443
(D) 42+ 43

5.

The point (6, —8) lies on the terminal arm of an angle 8 in standard position. What is

the value of sin 87
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6. Solve: cos® = —0.6947, where 0° < # < 360°

(A)

&

7. What is the length of x?

108

6 =46 and 6 = 134°
8 =46 4nd 6 = 314>
@ = 134°and @ = 226°
6 = 226°and 0 = 314°

Sin - s\;\"“
S <

41

(4)
(B)

@

7.2
10.4
113

162 y opens uf

8. Which represents the function v = 2x* —4x —57

©

e
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9,

10.

11

‘Which represents a parabola with y-intercept —15 and vertex (1, =5)?

[a) flx)=-20(x—1)* -5 B=a(¥_ I)a""s

fer==20 T 1 +5
@ flx)=-10(x-1)* -5 = \\$
 sm—weyapge 100X O ‘hg@
_
Ify = 2x® + 12x + 10 is written in thé form v = a(x — p)?

, M‘laﬁthe value of g7

a3+

-26 = ""\{
s - Rl Hr
SRR It e
(o) 28 R + \
—
A rancher plans to use 430 m of fencing to build a cattle enclosure with threes equal

seclionsﬂ\fhich represents the total area of the enclosure in terms of its width, x7

TRK]. tray= 430
@ A=x(215-2x) 95 - Ll3D"'L{X
) (a15-2x)
(m ‘iI—I(BU—x:.l A: ‘QZMJ _% K(a\s_ag

¥ 13> e ldeX

step does the first error occur?

Step 1

2(4)
T+
Step 2 x= O +
Step 3 x %
Step 4 r=1,x= 2
4
@
2
©) 3
o) 4

Yo uneqyed ved
(0%

D>0

pt

(B)

\
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14. Solve: 2x(x-3)+5(x-3)=0

o mes (49) (4-3)=0
®  x=-3, x=2 X__;_g X.:.__

15. Determine a simplified expression for the value of x:

x E ! ._-_—_.
27 + -‘rJZ_O .'125 +3 p rao

& us s — (s
R EY +4(aj§)—-5j% -3
) 434373 35%1—@_)’% 5)s -3

16. Write 4x7y? [Sxy as an entire radlcal !

% E ﬁxs‘ﬁlqugg) F‘NS

] [BOx10y5 ﬁ
SO ' S
6 Y
17.  simplify completely: \!;: &
W2 -243
(B) WZ+ 243

PR EESR
5_?>+5':15-'55‘Q

“soae\'c.
TR—JR _ 353-353
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18. Simplify completely: 3\5 et D b q 3
V3
Y P L
O-bq 3 }5’3 }B ;
(D) g
19.  Simplify completely: B :?
A — l ( 'v
PTE T ()
® -5 A= x4

20.  Simplify completely:

(B)
(]

(D)

21. Simplify completely:

e Y4+ —

e X xp) sc(»u'b) 2
(x+6)

%’Fﬂf" ‘3'.“3“"1
-X §L - &
3x2+ 1 -l

= qiv.‘ w_a

ox -1

6+ =
x

25—.\-2 x2-2x
:::::

(5—%)( S/x) )d></ )

vl

% (X/%)(x/?()

5-X

X
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22. The graph shown represents the reciprocal of which quadratic function?

4

HEK P LS8
':’ FEEE AN #T ,{m‘@(}q

N Ry L
@) )= -5x+6 \eX ¢ P_‘_\L’

B f(x)=x>+5x+6 -
f(x):xzv—x—é \A “\ a
(D) fx)=x*+x—86 - =

23. Whatis therangeof y=|x+5]7?
(A) {yly > -5,y € R}
(8) fyly=-5,y€eR]

& BhIE S
yiy=4u,y

%xz +xi=13 "

®
24.  Which is a solution to the system { ! d. M
xz—Zx%:? [ LA

@ 2D x*—x =20 rl"
W o

8 .Ex'-x -0 =0 of "f
A qx-40=0 7 A

A — =
25.  The first four steps of an incorrect solution to the system {4x Flp—Ip=4

are shown. Identify the step in which the first error occurs.
4x? 4 3x -2y =
Step 1 : {
P —2x2+4x+2y© '2

Step 2: 2x2 +7x=5

x2—2x—y=1
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26. Which represents the inequality 2x +y > 47

(4

(8)

@

27. Whichisasolutionto y > —2(x —1)* +37

@ g-'z; check f‘ e

27-2 (0-1)'+3

. Q7 -ak3
a‘?l
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